%122 LIDPEp M ier & & 2 pHE £
gP/E 98 99 100 101 101Q1-Q3 | 102(Q1-Q3)
lligevr £ (27)
pBigr (29 62,245 89,202 102,398 120,988 94,470 72,783
HEx10%) 433 64.5 94.4 -23.0
E &% 43.3 14.8 18.2 -23.0
2.|p 4R (29
RA&p 4§ (29) e e e e
2 % (%) -15 -25.1 -33.4 17.2
E &%) -15 -24.0 -11.1 17.2
RA 54 £ (29) ol ok e e
2 % (%) 3.4 -35.8 -47.9 129.7
E &% 3.4 -37.9 -18.9 129.7
3.|ApAE KRB el ok el el
2 % (%) 14.0 5.9 10.8 -75
£ F(%) 14.0 -7.1 4.6 -7.5
4.3 HFE 3 FO%)
ﬁ] F\ é_%ﬂ g_tl_ ? (%) *kkkk *hkhkkk *kkkk *khkhkkk *hkkkk *hkhkkk
2% (%) -13.6 -29.3 -39.9 26.7
& E % (%) -136 -18.1 -15.0 26.7
% ng_r‘ g_tl_ ? (%) *kkkk *khkhkkk *kkkk *hkhkkk *hkkkk *hkkhkkk
2% (%) 25.7 55.4 75.4 -16.7
:E (%) 25.7 23.6 12.9 -16.7
S.lier RHEApP22E
ﬁ] F\ /§_ % i é_ i ( ’4\"%) *kkkk *khkhkkk *kkkk *khkhkkk *hkkkk *hkkhkk
;g B (%) 8.0 -28.5 -43.3 77.9
£ 3% 8.0 -33.8 -20.7 77.9
R EHHAR 2 EE 0 51(%) it e
jg, & (%) 32.7 130.0 242.6 -56.7
CE % (%) 32.7 73.4 48.9 -56.7
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2222 LLDPE4s M £ %

A/ AwE
BE/E 98 99 100 101 101Q1-Q3 | 102Q1-Q3
1. (r &
A &P it Il el B e it
3 3 % (%) 13.2 13.6 11.5 3.1
2 £ & (%) 13.2 0.3 =1, ) 3.1
DRV kkkk kkk ek ek Fokkkk Fokkkk
3 % (%) 16.8 18.6 15.2 7.0
2 E %) 16.8 1.6 -2.9 7.0
2. | & 5 &1
ToE S & dhdkk | kkkkk| kAR |  kkkkk Ak ekAAk
3 3% % (%) 17.7 28.1 35.1 -6.1
2 E & (% 17.7 8.8 5.5 -6.1
3. |i&r p &CIF§
igr § #CIF#§ 39,318 43,371 44,048 41,726 41,648 44,523
3 % (%) 10.3 12.0 6.1 6.9
2 E & (% 10.3 1.6 -5.3 6.9
A MAsger §RCIFR 2§ 4°
Aiazier FRFL dhkdk|  hkkkk| kkkkk|  kkkkk PO SekAAk
BLder FREN X dkkAk | kkkkk | dkkkk | kkkokk Fu—— N——
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%322 BN LLDPEA ¥ 4p M 57T 7 8% %

HPp/E 98 99 100 101 101Q1-Q3 | 102Q1-Q3
1. i g_ i ( ,"\ ‘#{) *khkkk *khkkk *hkkk*k *hkkk *khkkk *hkkk
#HrF %) 8.0 -28.5 -43.3 77.9
= £ & (%) 8.0 -33.8 -20.7 77.9
9. |4 & 4 Y2/ 4 1) 1,884 2,056 1,320 985 898 1,542
#RF %) 9.1 -30.0 477 71.7
+E (%) 9.1 -35.8 -25.3 71.7
3. & ;; ,fll 3 ,_1}‘ 2(%) *khkkk *khkkk *hkkk*k *hkkk *khkkk *kkkk
MR F %) 8.0 -28.5 -43.3 77.9
+E (%) 8.0 -33.8 -20.7 77.9
4. -;_E’,_ F:‘ .? ( ,“\#{) *khkkk *khkkk *hkkk*k *hkkk *khkkk *kkkk
#H o F (%) 287.3 338.9 163.8 0.5
+E (%) 287.3 13.3 -39.9 0.5
5. F\ ﬁ‘% ( ,“\#{) *khkkk *khkkk *hkkk*k *hkkk *khkkk *kkkk
MR F %) -15 -25.1 -33.4 17.2
& E (%) -15 -24.0 -11.1 17.2
H\ ﬁ‘% ( ,“\#{) *khkkk *khkkk *hkkk*k *hkkk *khkkk *kkkk
3 F (%) 34 -35.8 -47.9 129.7
= E (%) 34 -37.9 -18.9 129.7
6. —r' g_‘:t $ _-%(%) *hkkkk *hkkkk *kkkk *khkkkhk
3 F (%) -13.6 -29.3 -39.9 26.7
= E (%) -13.6 -18.1 -15.0 26.7
7. ?‘ 5. 1ﬁ ( ;‘-‘/ ,“\ ﬁ) *kkkk *hkkkk *kkkk *khkkkhk
HEF ) 13.2 13.6 115 3.1
= E (%) 13.2 0.3 -1.9 3.1
ﬂ\ 5' 1‘1 3( ;,_‘/:A\ #‘) *hkkkk *hkkkk *kkkk *khkkkk *kkkhkk *hkkkhk
HEF ) 16.8 18.6 15.2 7.0
= E (%) 16.8 1.6 -2.9 7.0
8. %’ # 111 };: 4(__1_ ;,_‘) *hkkkk *hkkkk *kkkk *khkkkhk
3 F (%) 322 -155.4 -230.3 70.4
= E (%) -32.2 -181.8 -135.1 70.4
,p‘ ﬁ' %’ #_Pj-é (__f_ ;u) *hkkkk *hkkkk *kkkk *hkkkhk
3 F (%) -17.1 -115.7 -167.0 109.2
= E (%) -17.1 -118.9 -327.7 109.2
ﬂ\ ﬁ' %’ #_Pj_é (_4‘_ ;u) *hkkkk *hkkkk *kkkk *khkkkhk
H o F ) -118.9 -383.5 -593.3 337
3 £ F (%) -118.9 -1,398.7 -74.0 33.7
9. ﬁ—ﬁ #F’_‘,;:’ 5(_4‘_ ;,_‘) *hkkkk *hkkkk *kkkk *khkkkhk
3 F (%) -32.0 -153.9 -227.1 73.2
= E (%) -32.0 -179.2 -135.9 73.2
10 /'&lg. ﬁ _1 ,( k( ,{) *hkkkk *hkkkk *kkkk *khkkkhk
% (%) 0.0 3.1 9.4 4.3
2 E (%) 0.0 3.1 6.1 4.3
11 ,1 ?6(;‘_‘/}1 F&) *kkkk *kkkk *kkkk *khkkhk
HEF %) 41 3.1 0.6 -0.2
2 E (%) 41 -0.9 2.4 -0.2
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